Fractions
Exercise 2A

Solution 01

Answer:

We have the following:
(i) 58 and 712

By cross multiplication, we get:
Sx12=60and 7 x 8 =56
However, 60 > 56

n 58=T12

(if) 59and1115

By cross multiplication, we get:
S5x15=75and 9x11=99
However, 75 < 99

& 59<1115

(i) 1112and1516

By cross multiplication, we get:
11 x 16 =176 and 12 x 15 =180
However, 176 < 180

» 1112<1516

Answer:

-
-

and

(i) The given fractions are % Y % )

wl=

13-

b

LCM of 4, 6,9 and 12 = 36

Now, let us change each of the given fractions into an equivalent fraction with 72 as its denominator.

3_3xa 2
47 4x0 T 36
5 _ 5x6 _ 30
6 6x6 36
T_ x4 _ 28
97 Owxd 36
11 1ix3 _ 33
12~ 12x3 ~ 36

27 28 30 33
Clearly, W -3 - 35 < 35

3 7 5 11
HenCE,4{g{ﬂ<12
i 7

~ The given fractions in ascending order are T 5 % and % .
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(if) The given fractions are

=

|
3

2]

LCM of 5, 10, 15 and 20 =60

Now, let us change each of the given fractions into an equivalent fraction with 60 as its denominator.

4 _ 4x12 _ 48

5 Bxiz @0
T w6 _ 42
10— 10=<6 — 60
11 _ 1ix4 _ 44
16 = 16x4 = @0
1T _ 173 _ 51
20~ 20x3 60
42 A1 48 51
Clearly, WU S w
T 11 4 1T
HEHCE,E < A < H <§
~ The niven frartinng in acrendinn nrder are - 11 1 and 17
Solution 03
Answer :
We have the following:
: ; ; 3 7 T 17
() The given fractions are 15 1o and T

LCM of 4,6,12 and 24 =24

Now, let us change each of the giVEﬂ fractions into an equivalent fraction with 24 as its demominator.
3 _3x6 _ 18

4 4x6 24

T_Tx3 _ 2
BT OBx3 T M
T Tx2 _ 14
12 12x2 24
17 _ 1Tx1 _ 17
24~ 2dx1 A
21 18 17 14
Clearly, E =2 g = a e a
T 3 17 7
Hence,§>;>§>ﬁ
= The given fractions in descending order are %, %, 1?: and 1—?2 .



(i) The given fractions are 3, 2,

LCM of 3,5,10 and 15 = 30

sl~
-
@

Now, let us change each of the given fractions into an equivalent fraction with 30 as its denominator.

2 2x10 _ 20

37 3xi0 T 30

3 _ 3x6 _ 18
5~ Bx6 30
T Tx3 _ 21

8 _ 8x2 _ 18

15 15x2 30

21 20 18 16
Clearly, 2 > 2 > 2 > 2

7 2 3 8
Hence. {5 >3 >35> 3
. p ; ; ; 7T 2 3 8
~ The given fractions in descending order are T3 % and —

Solution 04
Answer :

We will compare the given fractions % and% in order to know who got the larger part of the apple.
We have,

By cross multiplication, we get:
2x5=10 and4 x7=28

However, 10 < 28

224

“7TT3

Thus, Sonal got the larger part of the apple.

4 _2_ 2810 _ 18
Now,5 T 3 35

~ Sonal got % part of the apple more than Reenu.

Solution 05
Answer :

-2,z [ LCM of 9 and 12 = 36]

_x o2 - -
=4+ 3 [+ LCM of 6 and 8 = 24]

28 33 18 . =
= + = + = [~ LCM of 12, 16 and 24 = 48]

_ 98433418
48

n_qa
P T



4 3 1

_ 10 , 23 , 16
- 5+10+15

14
30

|

[« LCM of 5, 10 and 15 = 30]

_ 114169432

Solution 06

Answer :

I
wal=a
I

tal=

[~ LCM of 4 and 5 = 20]

[+ LCM of & and 4 =12]

[+ LCM of 5 and 10 = 10]

[+ LCM of 1 and 3 = 3]



10 15
-3 _ 2
hli] 15
E 99—3;4 [+ LCM of 10 and 15 = 30]
5 _ 11 _¢5
T3 6 _16-
. 5 i
(VI)2§ _lﬁ
=23 22
1] 15
= % [+ LCM of 9 and 15 = 45]
_ 49 4
5-1%
Solution 07
Answer :

O5+§-s

_ 12;1185 2 [~LCMof3, 6and9=18]

i} B 12
_53 27,19
=% 3 tE
=w [+ LCM of 6, 8 and 12 = 24]
_ 25081 _ 169 _ o1
24 T 24 T T 24
Solution 08
Answer:

Total weight of fruits bought by Aneeta = (3% + 4%) ke

Now, we have:
3 1 _ 15, 9
3; + 45 - + 3

=== [-LCMof2and4=4]

_ 15418 _ 33
— 5 8

i -

Hence, the total weight of the fruits purchased by Aneeta is 8% ke

Solution 09



Answer :

We have:

D c

Perimeter of the rectangle ABCD = AB + BC + CD +DA
- 3 1 3 1

_ (63 25 63 25

_(T +? +T+T)cm
=(—53*50;“3*5“ cm  [~LCMof2and4 = 4]
_ [ 226 _ (13 —561
_(T)cm_(2)cm_562 cm

Hence, the perimeter of ABCD is 56% cIm

Solution 10

Answer:
Actual width of the picture = 72 cm = £ cm
T3

Required width of the picture = 71—::3 cm = <= cm

. ath= (38 _ 1
~ Extra width = ( T JD)CD]
= (7“"}73) cm [+ LCM of5and 10is 10]
_ 3
= ﬁl:m
Hence, the width of the picture should be trimmed by % CIm.

Solution 11
Answer:

Required number to be added = 18 — 7%

_ls 38
1 5

= 5'“538 [+ LCMof 1 and 5 = 5]
52 _ 402

=2-102

Hence, the required number is 10%.

Solution 12

Answer :

Required number to be added =82 — 7%

= 120109 | CMof 5and 15 = 15]

Hence, the required number should be 11—25.

Solution 13



Answer:

Required length of other piece of wire = (3% -1 %)m

=(M)m [+ LCM of 4 and 2 = 4]

_9_
—4m—2m

iy [

Hence, the length of the other piece of wire is 2—; m

Solution 14

Answer :

Actual duration of the film = (3% -1 %) hours

= ITB]IOI.IIS=2%]1IJUIS

Hence, the actual duration of the film was 2713 hours.

Solution 15
Answer :

First we have to compare the fractions: % and

e

By cross multiplication, we have:
2x9=18and 5 x 3=15

However, 18 > 15
L2 5
"3 = 9

So. 2 is larger than 2.

2
Now, 3

-]

3 [~LCMof3and9=9]

==
wl

2

Hence, 3 is % part more than %

Solution 16



Answer :
First, we have to compare the cost of the pen and the pencil.

Cost of the pen = Rs 16% = Rs %

Cost of the pencil = Rs 4% = Rs %

Now, we have to compare fractions 8—: and % .

By cross multiplication, we get:
83 x4=332and19 x 5=95

However, 332 = 95

L8
a3

£2

=

=z

So, the cost of pen is more than that of the pencil.

83 19
NOW,RS (? — T)

= Rs (%) [ LCM of 4 and 5 = 20]
_ 237 17

~ The pen costs Rs 11 172; more than the pencil.



Fractions
Exercise 2B

solution 01

Answer :

MExf=—%n—&

3% 7=57 =37 = u
e
(iv)%xlﬁ:%x%:%:%:ﬁ

g xM=gx PRt 210l
(vi) 2 x 1000 = 2 x 1000 — X100 _ 2B _ 625
(vii) 34 x 16 = 2 x 2 — 2x0 _ 22 _ 50
(vil) 22 x 12 =32 x 22 = 22 _ i I8
38 x4 =L x BTt 22y
W94 x1F— P olE Ly
o013 x208 = B B _ 2t
(52 x12 =2 2 =Bx2 _ 22 _q



solution 02
Answer :

We have the following:

35 T 3w44x35 T 1x22x7  Ix2x7 14

33 2xBxd3  Ixdx1l  Ixixl 1

w12 ., 15, 36 Ix3x5 _ Ixixl _ 1

28 36 Bxdx3  ixdxl ~ 4

(iii) 40 28 5 3 _ 10xix3 _ Ixbxd _ 3 _ 1
27 65 56 2ixbwx2  27xixl 27 9§
' 4 13 1
(N)l? xlﬁxlﬁ
Sl 35, 16 11x35x16 _ IxSx16 _ 1x1x8 _ 8 _ 92
7T 3 7 1B T Tw22xis | Ix2x15  1xix3 3 3
2 2 33
(V)2ﬁ XTEX]'E
_ 36 65 B5 _ 36x065xB5 _ 4xbx5 _ 1wSx5
TR T PR T Tmxoxsz . Ixixd . Ixixl =25
1 3 2%
(\.r|)3ﬁ xTzx1lg
-4 .. 52 64 Txdxd4 112 _ 9ol
T X T X3 1x1x3 3 _373
solution 03
Answer :
We have the following:
o1 _ 1024 1 2dx1 _
(03 of 24 =24 x =T X3=55 =8
= 3 _ 3 _ 32 3 _ 32x3 _ Bx3 _
(||)40f32—32x4— - X1 =5= ——xl—24
— _ 5 _ 45 5 _ 45x5 _ 5x5 __
(iil) 3 of 45 =45 x T =T X7 =1 = 1o =25
(Iv) = 0f 1000 = 1000 x o= = 428 x L — 2T _ 140
(v) 55 071020 = 1020 x & = 188 x & — 33 _ 153

(vi) £ 0f Rs 220 =Rs (22[]>< %) =Rs (20 x 5)=Rs 100

(vii) $0T54 m = (% x54)m:(4 X B)m=24m

(viil) 2 0f 35 L = (% xss)L:(s % 5)L=30L

(ix) 3 of 1 h = 2 of 60 min = (60x %) min = 10 min

(%) % of an year = % of 12 months = (12)( %) months = (2 x 5) months = 10 months
(Xi) o of a kg = == of 1000 g = (10[]0x %) g=(50 x 7)gm=350g

(xii) =& of 1m = 2 of 100 cm = (10[l>< 2—‘;) em=(5 x 9) cm =45 cm

(xiii) £ ofaday =1 of24n= (24x %) h=(3x7)=21h

(xiv) £ of a week = £ of 7 days = (7x %) days = 3 days

7 _ T _ 7 _ _
(xv)ﬁoﬂL—ﬁofmUOml—(lODOx E) mi=(20 X 7)yml =140 ml

solution 04



Answer :
Cost of 1kg of apples = Rs 18% = Rs %
=~ Cost OTS% kg of apples = Rs (% X 3%)
“Rs (£ x £) - Rs (£22) = Rs 69

T Txl
Hence, the cost of 3% kg of apples is Rs 69.

solution 05
Answer :

Costoﬁmofcloth:deLQ% — Rs &

5
Hence, the cost 0f5% m of cloth is Rs 238.

2
= Cost 0f5% m of cloth =Rs (8—25 X 5%)
) 2x5

=Rs (B—;XE —Rs (8’”‘23) _ Rs (17 x 14) — Rs 238

solution 06
Answer:

Distance covered by the carin 1 h = 66% km
Distance covered by the carin 9 h =(66§ ® Q) km

=(m xQ)lﬂn: (M)km={2mx3)km=snokm

3 3x1
Hence, the distance covered by the car in 9 h will be 600 km.

solution 07
Answer :
Capacity of 1tin=123 L= L
~ Capacity of 26 such tins =(26 'S %) L
:(2 xﬂ) L— (2ﬁx51) L— (13x51) L— (%) L=331% L

1 4 1x4 1x2

Hence, 26 such tins can hold 331% L of oil.

solution 08

Answer:

Cost of 1 ticket = Rs 35 2=Rs 2.

= Cost of 308 tickets = Rs (7—:} X 308) —Rs (% x %) —Rs (71 x 154) = Rs 10934

Hence, 308 tickets were sold for Rs 10,934

solution 09

Answer :

Thickness of 1 board = 3% cm

= Thickness of 9 boards = (Q * 3%) cm

=(%x%) cm = (3 x 11) em = 33 cm

Hence, the height of the stack is 33 cm.

solution 10

Answer :

Time taken by Rohit to complete one round of the circular park = 4% min = %min
=~ Time taken to complete 15 rounds = (15 X %) min

=(3 X 24) min
72 min
1h12min [~ 1hr =60 min]

Hence, Rohit will take 1 h 12 min to make 15 complete rounds of the circular park.



solution 11
Answer :

s

Weight of Amit = 35 kg
Weight of Kavita = % of Amit's weight

-35kgx = (35x g)kg= (7x3) kg — 21 kg
Hence, Kavita's weight is 21 kg.

solution 12

Answer:

Number of bays in the class = % of the total no. of students

:% % 42 = (5?‘12)=5x6=30

=~ Number of girls in the class =42 - 30 =12
Hence, there are 12 girls in the class.

solution 13

Answer :

Sapna's total monthly income = Rs 12000

Monthly expenditure = £ of Rs 12000

=Rs (% X 12DGD)=R5 (7 x 1500) = Rs 10500

=~ Monthly savings = Rs 12000 - Rs 10500
=Rs 1500

Hence, Sapna deposits Rs 1500 in the bank every month.
solution 14
Answer :

Side of the square field = 4% m

=~ Area of the square = (side)?

(3 m)

2
_f14 _ 14 14 f14x14 2 196 9
—(Bm)_3mx3m_(3x3)m_—m_21

Hence, the area of the square field is 21% m?.
Solution 15
Answer :

Length of the rectangular park = 41% m — 1—35 m

Its breadth = 18% m = 9—53 m

~ Its area = length x breadth

:(Exﬂ)mz

3 5
=(25 x 31)m =775 m2

Hence, the area of the rectangular park is 775 m2.



Fractions
Exercise 2C

01

Answer :

(i) Reciprocal of% = % [ % . % =1
(ii) Reciprocal of 7 :% [+Tx1i=1

i 1 L _
(iif) Reciprocal of 5 =12 [+ 53 X 12=1]

(iv) Reciprocal of 12% = Reciprocal of “—53 =ﬁ—53 [~
02
Answer:
4.9 4., 14 . i S _u
s+ =7%5F [+ Reciprocal of = = =]
=3
]
ow T .3 _ 17,5 - Reci 3-5
(ii) TYEI=T %3 [ Reciprocal of E 3]
-7 _q1
=5=1%
o B . q1p_ B 1 -+ REC] =L
(i) g +16 =5 x = [+ Reciprocal of 16 = 5]



(V)9+3=9x3

_18 _ 5 . . 4_5
=T Xy [~ Reciprocal of £ = 7]
_18 _ 9 _ 41
T 1 _2_42

-2 2 -+ Reci 2_2
==X [+ Reciprocal of o = 57
=3 3=9

(vii) 54 +1% =2+ 2

10 T "1
=8 x 2 [ Reciprocal of 4 = 13]
-2 -4
(ix) 15%+1% = %—%
=Ex 2 [+ Reciprocal of 22 = 23]
g 5t STEE
03
Answer
0 3 +3
= 1—21 X % [ Reciprocal of% =
-
21
65 +5=F+1%
=2 x 8 [+ Reciprocal of & = 7]
=5 x2=10
(55 +33=2+2
= % X % [~ Reciprocal of 1—3“ = 1—30]

[ Reciprocal of £ =

=1loe

[+ Reciprocal of 3 = 3]

l=



. .13 _99. 8

(IV) 32713—3273
_ - i B_5
=32x= [+ Reciprocal of ¢ = ]
=4 x5=20

. 4 _ - 8

=45 x % [ Reciprocal ofg = %]
=5 x5=25
' .ol _ .9
(i) 63724 —6371
= 4 . i 9 _ 4
=63 % 3 [+ Reciprocal of 3 = 5]
=7 x4=28
04
Answer :

Length of the rope = 13% m :2—; m

Number of equal pieces =9

=~ Length of each piece = (2—; +9) m

(2,1 .. ; _1
= (—2 X E) m [+ Reciprocal of 9 = EI]
3 11
Em—lam

Hence, the length of each piece of rope is 1—; m.

05

Answer :
Weight of 18 boxes of nails = 49% kg = % kg
- Weight of 1 box = (% + 18) kg
2 18 18

_ (o1 _ 1 1l g3
"(2xls)kg"(zxz)kg"Tkg'Qikg

Hence, the weight of each box is 2% ka.

= (E X l) kg [+ Reciprocal of 18 = 4]

06
Answer :

Cost of 1 orange = Rs 3% =Rs %
Total cost of the oranges sold by the man = Rs 210

= Required number of oranges = (21[] + 175)
- 1 - ReCi L4
= (21[] % E) [+ Reciprocal of = = ]
= (14 x 4) = 56

Hence, the man sold 56 oranges.

Answer :

Cost of 1 kg of mangoes =Rs 18 ;: Rs%

Total cost of the required mangoes = Rs 15?% =Rs %
~ Weight of the required mangoes = (% - 3—;) kg

- 629 2 - ; 37
—(T b4 ﬁ) kg [~ Reciprocal OfT
_ {17 _gl

= (?) kg=83 kg

Hence, the weight of the mangoes available for Rs 157% is 8—; kg.

07



Answer :

Distance covered by Vikas in 7% h= 20% km
= Distance covered by himin 1 h = (20% = 7%) km
_ 82 . 3
= (T T ) km
62

= 3 En km

- (2_24) km:(%) km=22 km

Hence, the distance covered by Vikas in 1 his 2% km.

e

08

Answer :

Cost 0f8—; kg of sugar =Rs 148%
. Cost of 1 kg of sugar = Rs (148% +8%)

— 505 . AT
=Rs (T s 2)
— 595 21 _ 35 1 _ 1
_RS(TXE)_RS(T)_RSITE

Hence, the cost of 1 kg of sugar is Rs 17%.

09
10

Answer:

Cost of 1 notebook = Rs T% =Rs %

T
(. n
4 4
_{2mn 4 . . 3 _4
—( raliat 31) [ Reciprocal of 3 13]
27!

Hence, 9 notebooks can be purchased for Rs 69%.
11
Answer :

Cost of 1 ticket = Rs 10% =Rs 2—;

Total amount collected by the boy = Rs 283% =Rs 1,;

~ Number of tickets sold = (L;? - 2—21)
_ [ 56T 2 . . 2 _ 2
= (T * ﬁ) [+~ Reciprocal of 5 T
=507 _ 97

21
Hence, the boy sold 27 tickets of the charity show.

12

Answer :

Amount contributed by 1 student = Rs 61 £ = Rs 122

2
Total amount collected = Rs 676% =Rs Lz;“

= Number of students in the group = (% + 1—33)

= (L 2 - Reci iz _ 2
= (— X —) [+ Reciprocal of == = =]

Hence, there are 11 students in the group.

13



Answer:

Quantity of milk given to each student = % L
Total quantity of milk distributed among all the students =24 L

= Number of students = (24 = %)
_ 5 . . 3 _ 5
= (24 ® 5) [+ Reciprocal of £ = 3]

= (12 x 5) =60

Hence, there are 60 students in the hostel.

14

Answer :

Capacity of the small jug = 3 L

Capacity of the bucket =20 L= £t L
= Required number of small jugs = (% + ;j)
81 4

- . i 3 _
= (T * 3) [+ Reciprocal of I

- (3_31):2?

Hence, the small jug has to be filled 27 times to empty the water from the bucket.

s

15
Answer :
Product of the two numbers = 15% :E'T?
One of the numbers = 6—; :1—;
+ The other number = (% + %)
_ (55 3 . . 19 _ 3
= (T X E) [~ Reciprocal of 3 19]
_(58Y _ o1
N (E) =2 2
Hence, the other number is 2%.
16
Answer :
Product of the two numbers = 42
One of the numbers = Q% = 4—59
=~ The other number = (42 = %)
= - i 49 _ 5
—(42 ® E) [+ Reciprocal of ¢~ = 451

_(6xb5Y _ 30
(55) =% =

Hence, the required number is 4 %

~les

17

Answer:

W

RS ¥ [X)

Required number = ﬁ% =

U]

et

23]
[

14

3
=R
1

I
T
g «l
=

[2:] [N,

) [ + Reciprocal of 5 = =

x 14

)1

Hence, we have to divide 6!—"; by 1% to get 4%.

wal=



Fractions
Exercise 2D

Q1

Answer :

(©)

—
ez

1—; is a vulgar fraction, because its denominator is other than 10, 100, 1000, etc.

Q2

Answer :

—

9
C)?

% is an improper fraction, because its numerator is greater than its denominator.

Q3

Answer :
105

(@) 113

A fraction that is reducible can be reduced by dividing both the numerator and denominator by a
common factor.

w

05:7 1
1i2:7 1

=]

105

Thus, ETE) is a reducible fraction.

AnQé'er X

(c) equivalent fractions

Equivalent fractions are those which are the same but look different.

Thus, é, % — %, % = %, % = % are equivalent fractions.
Q5
Answer :
9 _ 13
© > 2

- 9 13
The two fraction are 4z and 33
By cross multiplication, we have:
9 x24=216and 13 x 16 =208

However, 216 > 208
] 13

—_ = ==

16 24

Q6

Answer:

(d) none of these
Reciprocal of 14 = Reciprocal of £ =

=1le=



Q7

Answer:

3 B _f 9416 - =
(ﬁ+ﬁ)_(_m) [ LCM of 10 and 15 = 30]

Q8

=(39 28) [ LCM of 4 and 3 = 12]
1

Q9

Answer :
(d) 144

36 = % =36 x4 [+ Reciprocal of 1: 4]
=144

Q10

Answer:

(b) 2

Required number = l—g +2%

=43 - 13

T 5

_13 ., 5 . i 13 _5
==X [ Faempror:alof5 13]
=5

7

Q11



Answer :

(a)2

Required number

rales ralea
(X1

L ]

Q12

Answer:

(©23%

walea
] =]
ks

B 3
5X2

Q13

Answer:

Q14

Answer:

(@ 3

[._.

walen
walbs

rales

- ReCi 2_3
[ Reciprocal of £ = 3]

s [

-+ Reci 2_3
[+ Reciprocal of £ = 3]

] ]

i 6_5
Reciprocal of = = £]

Reciprocal of 12 = Reciprocal of 3 = 3

Q15

Answer :

3 2 14
mi<cia
The given fractions are 3

LCMof 5, 3and 15 =15

Now, we have:

9 10 14
Clearly, TERE T
L322 M
s < 3 < 15

Q16

57

2 14
Eandﬁ.

4.1 _ 14
and BT 15



Answer:

(C) 44 km
Distance covered by the car on 2% L of petrol =(16 ® 2%) km

_ 11
= (lﬁx T) km
= (4 x 11) Km = 44 km

Q17
Answer :

(a) 10% hours

Time taken by Lalit to read the entire book = (6 by 1%) n
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